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Skills practice graphing quadratic functions answers
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Find the slope of each line.

Find the slope of the line that contains each pair of points.
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A rockel is launched from a platform.

is height (in meters), £ seconds after the launch, is modeled by

TP B
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What is the height of the rocket at the j:_np! -n?liguunh? wo) = 42 - (-8
G

How many seconds after laur nch will the rocket hit the ground? % FE::’E' ,l. |

C = =\ ‘f”;’—]( ’”5) bStowds Ys5<9 R=U
How many seconds afterb@ing launchad will the rocket reach its’ maximum height?
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Then resolve each inequality. Use a graphic calculator to resolve inequality A (x) A '5x2 y> 3x2 A¢ '2 Answer: Question 23. What is the arc for more than 200 feet above the ground? x2 + 8x> A¢'7 Answer: Question 38. A brochure for the large shot states that the needle assembly takes 2 seconds. 3x2 + 5x A¢ '3 0 Communicate Your Answer Question
3. Answer: Question 84. x2 ¢AAA 4x + 8 = 0 Answer: Question 8. a. Is it possible for a number to be both whole and natural? f(x) = x2 ¢AAA 2x b. The launching pad is 30 feet above the ground. x2 + 6x ¢AAA 16 = 0 Answer: Question 4. \(\sqrt{27}\) Answer: Question 2. ¢AAA3(x ¢AAA 4) ¢AA¥A 24 Answer: Write an inequality that represents the
graph. Then identify the vertex. The ball leaves the juggler¢AAAs hand with an initial vertical velocity of 40 feet per second. ¢AAA3x2 ¢AAA 18x ¢AAA 6 = 0 Answer: Question 10. The two graphs represent two parabolas: one opens up and the other opens down. Answer: Question 48. Arrange the tiles in a square. Percentage CalculationsPercent
Worksheets These percent worksheets are great for practicing percentage calculations. two real solutions B. Answer: Question 2. 4x2 + 6x = ¢AAA9 Answer: Question 12. 4 + 12i, 4 ¢AAA 12i C. REASONING Write a quadratic function in the form f(x) = x2 + bx + c that has zeros 8 and 11. x2 + 10x + c Answer: Question 12. Question 27. Use the
numbers and symbols to write the expression x2 + 16 as the product of two binomials. Answer: Question 52. x2 ¢AAA 36 Answer: X2 ¢AAA 36 x2 ¢AAA 62 (x +6) (x- 6) Question 10. Which bird will reach the fish first? x2 + 8x + ¢ Answer: Question 5. So, you choose the valuesa =2 and c = 1. ¢AAA9x2 = 30x + 25 Answer: Question 6. Then state the
number type of solutions for: each graf. x2 A¢ A A 100 = 0 Response: Question 50. 5x2 + 33 = 3 Answer: Look for zeros in function 3 n. Answer: Question 22. Is your solution correct® Answer: Question 77. Estimate the solution 2 or solutions. (x + 4)(x A¢ A 1) =A¢ A A x2 + 3x + 4 Response: Explain how 3 use the graph to find the number and type of
solutions in the 3 equation. Ao is the maximum height that a camiA 3 7 feet wide can have and still do it under the arch? x2 A¢ A 6x + 10 = 0 Response: Question 13. y A¢ A A¢ 2x2 y < A¢ A x2 + 1 Answer: Question 22. REASONING A nonlinear system contains the equations of a constant function 3 a quadratic function® Describe what happens to the
graph of y = x2 + bx when you complete the square. A¢ A A \(\sqrt{\frac{65}{121}\) Answer: Question 7. and < (x + a)2 and < (x + b)2 Answer: Question 51. y A¢ A mAA s x2 + 5x Answer: Question 12. Question 51. Question 78. Conversion 3 percentages, decimals and fractions spreadsheets These percentages spreadsheets are excellent for
practicing conversion 3 percentages, decimals and fractions. Answer: Question 76. A¢ A x2 A¢ A 6xA¢ A 8 = 0B. m2 + 8m + 16 = 45 Answer: Question 7. "Real and imaginary? You can model x2 + 6x using one x2 tab and six x tabs. f(x) = x2 + 7 Response: Question 21. 2x A¢ A A yi = 14 + 12i Answer: Question 18. area of right angle = 50
Answer: Question 52. x2 A¢ A A 8x = A¢ A 12 Answer: Question 30. What securities can you use to support your claim? 5x2 + 38 = 3 Response: Question 49. a2 = 81 Answer: Question 15. Question 29. x2 + y2= 12.25 Answer: Question 5. Question 5. Question 35. A¢ A x2 + 2x A¢ A 1 = 0f. 2x2 A¢ A 20x + 50 = 0 Response: Question 31.4 A¢ A 8y
A¢ A A¢ 12 Answer: Question 76. Another player catches the ball when it is 3 feet above the ground. Answer: Completing the Square 3.3 Exercises and Basic Concept Question 1. A ¢ A3x2 + 2x A¢ A5 =and A ¢ A + 2 = A ¢ 4 and Answer: Question 29. Search VO using the fact that the value mA Ximo H is 921 + 160 = 1081 feet. X2 + +. = 20.25
Answer: Question 6. 4x2 + 32x = A ¢ A 68 Answer: Question 11. Compare the roads. and A ¢ A A ¥ 4x2 Answer: Question 9. Using structure Each expression as a standard complex number. y = Aca'x2+4 y = A ¢ A' 4x + 8 Answer: Question 2. M (x) = A ¢ A 4 € X2 A ¢ A 27 Answer: Question 60. Explain your reasoning . 5x2 = x + 8 Answer: Solve
equation using the quadratic formula. A ¢ A 'X2 + 2x + 3 = 0 Answer: Question 5. Then classify your results in the table below. and A ¢ A A ¥ x2 + 6x + 8 Answer: Question 29. What is the most effective thing? The main drum catches the baton when it is 4 feet on the ground. A ¢ 4 € ce \ (\ SQRT {112} \) Answer: Question 3. Exploration 1 Derivation of
the quadratic formula work with a partner.y =x2 + 8x + 18y =A ¢ A2x2 A ¢ A 16x A ¢ A 30 Answer: Question 8. Label the VA © Retice, X-Intercept, and SIM]*;TRTA Axis. Answer: Question 57. and A & %o A ¥ 2x2 + x Ac¢A 5and 6 +)}}3{ }n{ }3{ }n{ carf\(\ .zeid ed seredop nos euq sejatnecrop sol rop n3Aicacilpitlum al racitcarp arap setnelecxe
nos otneic rop ojabart ed sajoh satse ,setnecrepnet ojabart ed sajoh ed seredop nos euq sejatnecrop rop n®AicacilpitluM .senoiculos nos i2'A y i3 y selaer sorem2An naes C y B ,A euq odom ed 0 = C + XB + 2XA acitjArdauc n®Aicauce yah oN otneimanozar ed ertseumeD .eidrib led amixjAm arutla al artneucnE .selamina arap orenarg nu ed odal led
ogral ol a ralugnatcer amulp anu odneyurtsnoc jAtse rotlucirga nu revloseR a system. Use the Algebra tiles to complete the Square for X2 + 6X expression. 7x2 A ¢ '3x = 6 Answer: Question 11. Answer: Maintain the graphical mathematical competition of the function. Enter the function in the VA © RETICE form to find the maximum weekly income.
Answer: Maintain maintain Competition determines whether the given value of X is a solution to equation. f (x) = x2 A¢A2x+2dA" \(Frac {1} {2} V) x2 + x A ¢ A1 = 0 Answer: Question 9. Resolves 7x2 + 21 = 0. Is it possible that A and ¢ be whole? How does this change your responses in parts (A) and (B)? and Aca%o A¥x2A¢A3xA¢AAA
AAAAAAAAAAAAAAAAAAA'AAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAAA © The shape of the gateway of the gateway in St. Louis, Missouri, can be modeled by Y = A ¢ A 0.0063x2 + 4x, where x is the distance (in feet) from the left foot of
the arc and is the height (In feet) of the bow on the ground. 5x2 A ¢ A 50x = A ¢ A '135 Answer: Question 54. Your model rocket has an initial vertical speed of 105 feet per second. The owner wants to add 329 square feet to the patio area by expanding the existing courtyard as shown. Question 39. x + 3i = 9 A ¢ 4 yi A 'Answer: Question 6. How long
does the ball last? Another garnet detects the same fish, and is only 84 feet above the water and has an initial vertical speed of A ¢ 70 feet per second & '. Then describe the possible values of A and c. Are the solutions? Next, write an expression represented by the diagram. x2 + 4x + 4 = 0e. X2 A ¢ A3x + 2> 0b. X2 A ¢ A 4x + 2> 0 Answer: Question
37.F(x) =A¢AX2A ¢ A6xA ¢ A10 Answer: Question58.( A¢A  i)A¢A€a€"( Aaa€  i)=2A¢A4iAnswer: Question 48.1 (8 A ¢ A) Response 4 ': Question 13. 2x A¢ A'3 =Y + 5x2Y =A ¢ A 3x A ¢ A 3 Answer: Question 21. Due to safety standards, the archer should point the arrow parallel to the ground. What is the maximum
height of fireworks? Answer: Question 49. \ (\ Frac {1} {2} \) X2 + 3x + \ (\ Frac {9} {2} \) = 0 Answer: Question 6. Answer: Monitoring of progress and modeling with mathemaker TICAS IN THE EXERCISES 5A ¢ 4 € 12, find the square ragal of the number. (3 A ¢ A 6i) 2 Answer: 44. Use the mEverything described in Scan 3 1 to complete the table. \
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Rewsna) 7i + 3 (3'4A ¢) 6i9 +A ¢ ¢ (+) 5i4 + 2 ( charge to maximize daily revenue? 6x(x + 2) = ¢AAA42 Answer: Question 12. Answer: ERROR ANALYSIS In Exercises 23 and 24, describe and correct the error in solving the equation. MAKING AN ARGUMENT Your friend says the equation x2 + 10x = ¢AAA20 can be solved by either completing the
square or factoring. Explain how you can use the graph in Exploration 1 to solve each inequality. 2x2 + 4 = ¢AAA7x Answer: Question 3. EXPLORATION 2 Drawing Conclusions Work with a partner. MODELING WITH MATHEMATICS A rectangular fountain display has a perimeter of 400 feet and an area of at least 9100 feet. y = \(\frac{1}{2}\)(x +
2)2 y = ¢AAA\(\frac{1}{2}\)x2 + 2 Answer: In Exercises 11¢AAA14, solve the system of nonlinear equations using the graph. Match each system with its graph. MAKING AN ARGUMENT You and a friend solve the system shown and determine that x = 3 and x = ¢AAA3. The egg container is dropped from a height of 80 feet. 2x2 + 3x ¢AAxA 2 Answer:
Question 6. 3x = \(\frac{1}{4}\)x2 + 5 Answer: In Exercises 13¢AAA20, solve the equation using square roots. PROBLEM SOLVING A car passes a parked police car and continues at a constant speed r. Graph the solution. USING EQUATIONS How many solutions does the system have? Question 49. ¢AAA\(\sqrt{4}\) d. Question 64. s2 = 144 Answer:
Question 14. Answer: In Exercises 37¢AAA44, multiply. How long is the firework in the air before it explodes? x = \(\frac{15 \pm \sqrt{-215}}{22}\) Answer: Question 43. 9x ¢AAA 18i = ¢AAA36 + 6yi Answer: Question 17. If you're looking for a great tool for converting fraction to percent or percent to fraction check out this online Percentage
Calculator. 7 = ¢AAAx2 ¢AAA 4x Answer: Question 10. 2x2 + 6 = ¢AAA34 Answer: Question 54. How many 1-tiles do you need to complete the square? (17 ¢AAA 3i) + (¢AAA17 ¢AAA 6i) f. \(\sqrt{-64}\) Answer: Question 7. ¢AAA31x + 56 = ¢AAAx2 Answer: Question 57. u2 = ¢AAA9u Answer: Question 40. x2 ¢AAA 22x + 121 Answer: X2¢AAA 22x
+121 x2 ¢AAA 11x +121 x (x-11) -11 (X-11) (X-11) (X-11) Question 13. A 'x2 + 4x = 19 - 3x2; x = A¢ "\ (\ frac {3} {4} \) Answer: Type a function 3 a tile in the form of a vTip whose graph is displayed. The drawing conclusions consider the graph of the function F (x) = AX2 + BX + C. It solves the equation 3 by graphing the related function 3 and stating
that there is no solution® Exploration 3 1 Use of algebra tiles to complete the square work with a buy. "rational numbers? Answer: Use of the 3 formula table 3.4 Vocabulary exercises and core concept Verification question 3 1. Solve the equation in part (a) to find the dimensions of the pen. Answer: Monitoring progress and modeling with mathematics
in exercises 3-10, solves the equation 3 using square keys. ax2 + 10x = c; A real answer Answer: Question 40. The graph shows a system of square inequalities. How 3 can you complete the square for an expression 3 a square? y + 2x = A¢'14 A 'x2 A¢ 'y A¢' 6x = 11 Answer: Question 32. F (x) = 4x2 A¢ '12x + 9 Answer: Question 53. Explain your plan
to find the Possible font widths in exercise 44 on page 145. 5x2 A¢ '10x A ' 35 = 0 Answer: An analysis of errors in exercises 33 and 34, describe and correct the error in the solution 3 the equation 3. 'x + 7 A< 4 A< 2x Answer: Question 63. Troubleshooting A study found that 3 n reaction time of a driver A (X) to audio stimuli and its reaction time n 3 v
(x) to Visual stimuli (both in milliseconds) can be modeled by a (x) = 0.0051x2 A"0.319x + 15, 16 A¢ A ¢ x A¢ & ¢70 V (x) = 0.005x2 A¢ '0.22 x + 22, 16 A¢ A< x A¢ & = 70 where X is the age (in years) of the driver. y = A 'x2 A¢ '6x 10 y = 3x2 + 18x + 22 Response: Question 31. A '5x2 A¢' 6 = A '4x Answer: Question 15. (7 'x) (x A¢ '1) Answer: (7A'x)
(xA¢'l) A¢ a"
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